V001%A - fERADIRA (BETERE22m) B E30cnLl_E60cmokis
#0-0001 SRl . .
3 ELUR 31,109 M@/ H0-0013
& % - B & ¥ E ¥ A (E)) & @ [ E3
EET X 01 RA020
6. 65 A 20, 300 134, 995 .
TBEkR X 02 RA010
6.65 A 18, 700 124, 355
BHEREE (7 v bE) X 03 V0008 #0-00025- Rz
T v 2R « (EEK22m 0.91 2] 56, 868 51, 749
PR R XX 10 P 311,099
o BAIMY ok 1 S 31,109
X B & 31-628705-70003-4-0
V0008 BFEREE (v hE) T v o REER - {EER22m
££0-0002 3R fii %
2] e 56,868 FJ EH0-0014
% B % ® B B & G & wmm E3
EEFE (BB * 01 RA070
1 A 21, 000 21, 000
[237] 0 Texa
Nl ) =P L (4 LERE) 11.13 L 96 1,088
BWEERE (X7 > hE) X 03 W0001
N7 o 73R4S - fEEE22m 1 R 34, 800 34, 800
* kBT Y k& 1 B 56, 868
X K W 31-628705-70003-4-0




V00204 fERRALERA (FPT{E$EE22m) 52 B60cmEl_E£90cmA i
#0-0003 5407 )
X EV 56,236 [ / H0-0015
% F B = R EARAGH) & | [ E3
ERET ¥ 01 RA020
11.97 A 20, 300 242, 991
EEEER ¥ 02 RAO10
11.97 A 18, 700 223, 839
BRERE (7 v hE) * 03 V0008 E0-00025-Ri=
N7 v 7 4REESK - {E¥EPR22m 1.68 A 56, 868 95, 538
* &k % BF % k% 10 F: 562, 368
* R BEATI Y %k ok 1 A 56, 236
X K & 31-628705-70003-4-0
V0021A AR A (HFTEE#E22m) & E90cnPl_E120emiE
$£0-0004 5 fRAHER ' .
S %h 92,931 H H0-0016
. /
& ' E E EAR ()] & mHED & =
EET X 01 RA020
19.95 A 20, 300 404, 985
YimEXR X 02 RAOIO
19.95 A 18, 700 373, 065
BFEEE (37 v ME) X% 03 V0008 F0-00025-REFE
b o J RS - FEER22m 2.66 B 56, 868 151, 268
* &k BEh ok % ok 10 N 929, 318
kR BT Y %% 1 A 92,931
X K F 31-628705-70003-4-0

O



V00224 EBRALIRA (BF{ERE22m) s B 120cmPl E150cusikiE
FE0-0005 2Rl
S 1 143,640 @ H0-0017
2 B - BB % 8 B R () & T|E) & E3
EET X 01 RA020
29. 89 A 20, 300 606, 767
HEEER B 02 RA010
29. 89 A 18, 700 558, 943
BEEER (7 v FE) X 03 V0008 £0-0002 5 RMER
b T 7 4REEX - fEEEK22m 4.76 B 56, 868 270, 691
% % KAk k% 10 * 1, 436, 401
‘ %k BEATH Y ok 1 = 143, 640
X K ¥ 31-628705-70003-4-0
V0023A fERAIRA (BFTE¥E22m) & 150cmbl +
000065 UMM /
3 E) 211,035 H H0-0018
2 - B OB ¥ B B B m) & H) [ 3
ERET B3 01 RA020
43.19 A 20, 300 876, 757
EEEXER X 02 RAOL0
43.19 A 18, 700 807, 653
EEEEE (Xryv ME) X 03 V0008 £0-0002 5 RIHR
T v 7 3REERK - {E¥EER22m 7.49 A 56, 868 425,941
s ok sk A3k ok k 10 N 2,110, 351
* ok BfTMY %k 1 F: 211, 035

31-628705-70003-4-0



V0001C fERALARB (Fx— Y — i) 2/E30cnll L60cmAH . EAE° LIk
£50-0007 5-f%fliR TEHEA3cn, T EIN
m 3 EL) 24,654 MM H0-0019
% B = B RG] & H) & Z
BEBRIEER X 01 RA005
111 A 21, 200 23,532
P
T ¥ 02 RAOI0
0.06 A 18, 700 1,122
* kBT Y % % 1 m3 24, 654
R 31-628705-70003—4-0
vooo2c BRAIIRE (F=—y Y —HiD) % /E60cns)_Eo0cnskil, MESHESC LIL
££0-0008F {1l FHEAE22en, T E 14n
m3 E) 8,542 M F0-0020
% % B A B () & T [ E3
SRIEER X 01 RAQOS
0.35 A 21, 200 7,420
TEEER % 02 RAO10
0.06 |- A 18, 700 1,122
% ok BATY D & % 1 m3 8,542

31-628705-70003~4-0




V0003C
£50-00095-1R i

ERARRB (F=—r Y —{&ER)

BA0cmLl E120cmei, MELHE30° Sk

£0-0010 8R4

EIYEAR32cm, T 18m
m3 wp 5574 M H0-0021
3 ® ® = E B mE) & #m|l E3

WBRIEXR X 01 RA005
0.21 A 21, 200 4,452

TBERE B3 02  RAD10
0.06 A 18, 700 1,122
ok BATH D % ok 1 m3 5,574

S 31~628705-70003-4-0
V0004C

EBRALKEB (F=—rY—&iR)

$E120cmbl E150cmoiei, {ERIEE30° LI E

EIERALen, TR FE 160
m3 E) 4,938 [ H0-0022
£ % R ¥ K N B mm & ®m@ & E3
BERIEER X 01 RA0O5
0.18 | A 21, 200 3,816
~_ ' <
WiEEER * 02 RAO10
0.06 A 18, 700 1,122
* R BIATY D & % 1 m 3 4,938
X K

31-628705-70003-4-0




V0005C
$E0-0011 SRffEE

ERABARB (F=—r Y —&R)

BE150cmEl b, HFAL30° LIk
FHER4Ien, FHHE26n

m3 Ly 2,818 M H0-0023
% E & & © E ()] & B [ =z
BEREER X% 01 RA005 .
0.08 A 21, 200 1, 696
EEIEER X 02 RA010
R 0. 06 A 18, 700 1,122
XY L LR 1 m3 2,818
B 31-628705-70003-4-0
54708 fER AR TR, RRA, FHEHEERRE
#0-00125- % iR 30%PE
ha E) 250,441 H0-0024
% & ® E B A AG)] & @@ 1% Z
FRERTL I X 01 RAO10
13.13 A 18, 700 245, 531 1
(e BA, (MERUES A&
B2 X 02 #01
2.00 % 245, 531 4,910
kR BTN Y %ok 1 ha 250, 441
A BIKS =1 AR, FRA, THAFEERE
B fRER =4 HRE 30%HLE
D {Eflick3HWE = 84 30° LAk (1.05)
E BERERE = 7 EEBEBRR ~03ET
#E = HEFHC X BEIE X @EFFRIC X 24E = 1.0500
BEFNC X B RLE=1. 050
EEEFRIC X AHIE=L1. 000
X K

31-628705~-70003~4-0



54501 Ry 7 RUIBEIFA  LHEIL [B] Ju—784 11f%0. 28m3 (EFHO. 2:u3)  PEHHY A%t
£0-0013 51V B BEEL A —XREOLDHEA
m3 e 344 A H0-0025
% B - B O % = ¥ B m & #Hm{@) E
RNy 7 Uik X 01 54900 20-0014 2 XM6%
Za—S8 [L5H0. 28m3 (FAHO. 2n3) 1K 1.00 2] 5,794 5,794
HERL
1m3¥ 7= Y B 02 +00
m 3 5,794 344 5794/16. 8
* kBTN Y % % 1 m3 344
A IEKZ =2 LIl [B
B i%iE = Ju-77 (L1740, 28m3 (EHKO. 2m3)
cC +EA =1 B BE: |
D BEHEHE . =| N—ZXRREO THHE il
E @EARKS = EET |
F EEAE =1 HERIBE  90°
G HEHTARRRS =1 BT AR RE 1K)
|
ook 1BFRI M 72 ¥ T BVs [m3/B5R) **T**
Vs = 3600 /CaX q X E = 16.8000
Cm = 30.000 q = 0.200 E = 0.700
X K K 31-628705-70003—-4-0
54900 Sy 7R B 7 u—S 8 (Lf#H0.28m3 (FFAHO. 203) 13K
#0-0014 50K HWEAZL
il ER) 5794 [ BR0-0026
% RO % E ¥ o EARAG) & B ES
BEEF () * 01 RAO70
: 0.16 A 21, 000 3, 360
i
(23] X 02 TSX24
M o—)—FEL kLERE) 6.30 L : 96 604
Ry rky (7a—F8) [FEEH] X 03 MA191
PeHA1KRILFEO. 28m3 1.00 3] 1,830 1,830
ok kBT k% 1 23| 5,794
A RNy 7 ERURE =1 7 a—Z & Ih7K0. 28m3 (FEAHO. 2m3) 1K
B HAH#HE = WERL
-1 HEEE]
B %7 b E#=F#=690/110=6. 3
HEESH=1/6.3=0.16 -
FREHEE &=41. 000%0. 153=6. 30
K R K 31-628705-70003-4-0



54075 Y AVETE YT hFvr4tE

F£0-00155- MR Ry ZARY  7ua—FBIIFH0. 28m3 25K
m 3 e 5418 [ E0-0027
4 B - BB % B B E RG] & B & =
o7 7y 78k * 01 S4915 T E0-0016 2R
L@ -FA—EL4tE 1.00 B 5,148 5,148
SRR EE MEARL
w3 7= U Bfh 02 +00
m3 5, 148 5,418 5148/0. 95
* R BQTYE D & % 1 m3 5, 418 ]
A Fr7v ook =2 ¥ Ty r4tE
B FHAETE =3 Ny 7k 7a—FEUFH. 2803 21K
c +tERS =1 KM B -PEL -EEL
D EERRICLEDHRE (8) =3 RPN OE R :
E FEEREHE (km) =22.5 . EEREEE (km)
F A YHEfRRKS (EEEERR) =2 ERREEING i@
wborr 1Y 0 BT R [m3/ﬁFﬁ5:|l Aolotohok
ERRIUC L 3%E (8) B =438
FEEEERE (km) (L) L =22
Z DRAEERFRIEY (o) o = 11
YA I7NFZLH(Cm)=BXL+a Cm = 125
HRLE q =22
= | E =0.9
Hok 1 BERY 72 0 BB (V) = 60X g XE,/Cm = 0.95 p
X K K 31-628705-70003-4-0
$4915 I ANVELE . Yl T4—EN tHE
#0-0016-5 1M ERBERE B @HERL
isdi] E1 5148 [ . H0-0028
A m - B OB ®x E E EERTAG) & T {& E3
EEF (—R) x T P
0.17 A 17, 600 2,992 e
i)
B X 02 TSX24
N — ) —JE L (4kLIERE) 5.80 L 96 556
¥ 1 YigfER X 03 T4031
r AV VSR ] ‘1,00 3] 90 20
o Trowr [Fru—F - F4—¥] X 04 MA402
4 t HR 1.00 35| 1,510 1,510
sk BAATIE 1 s ke 1 1] " 5,148
A B i =2 EB-T4—ENV4tE
B ¥4 VEHEBRS (EHBERIR) = ERREERIL EiE
C ERfE =1 WERL
[ZERE]

REHEE B=135. 000%0. 043=5. 80
B % 7= Y EERmE=830/140=5. 9
EESHE=1/5. 9=0. 17

X K B ‘ 31-628705-70003-4-0



